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AT .

(i)  Answers must be written either in English or in Marathi.

I SR A TS et TR

(ii)  Question No. 1 is Compulsory. Of the remaining questions, attempt any four selecting one question
from each section.

Y7 FHHIw 1 Sfvard smE  3da geaaye Sivde 9% Qisal 90 FEw [T T 59 Hagd
HiSTar} ST . '

(iii)  Figures to the RIGHT indicate marks of the respective question,
ITIFHSIT HF Tl Feaa 07 qeEan.

(iv) Use of log table, Non-Programmable calculator is permitted, though any other Table/Code/Reference
book are not permitted.

T 29T qGT F-FIHaeT Foagerel AIYe glehd T8l YU S SqciFIS dalia grawear
FTRICH WEr g,
(v) Make suitable assumptions, wherever be necessary and state the same clearly.

foe-fore syavae se fag-fad G 76id =01, 9 a9] 98 38@ 4.

(vi) Number of optional questions upto the prescribed number in the order in which they have been
solved will only be assessed, Excess answers will not be assessed.

1 U [T GEdT vara] ggET Qisfac o, daels FvTaET aurae e, sifhia s
TG SR eI,
(vii) Credit will be given for orderly, concise and effective writing.

Hdea, Thra 7 TRoTTERF forarona 47 oo 5.

(viii) Candidate should not write roll number, any name (including their own), signature, address or any
indication of their identity anywhere inside the answer book otherwise he will be penalised.

IYRTHSIT 31T I FId8! SHGART 93% FAlF, T [Ha1 a9 77a, o a7 3797 iz
QUR (€ THT FE 79 I a 199 U 3.

(ix) For each slab of 10, 15 and 20 marks, the examinee is expected to write answers in 125, 175 and 250
words respectively.

TP 10, 15 ST 20 T STEeedl Foaral Iu YRETEIFgT ST 125, 175 0 250 Teerqed
SR SR |

P.T.O.
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1.  Answer any four of the following questions :
WrefieTient HIvTad A Wy W
(a) Explain the scope of Accountancy in the present days. 10

(b)

()

(d)

(e)

IMYfF e SETFEATE (Accountancy) STE TR 1,

Describe ‘Tax planning’ and give the various steps followed in registration of
service tax.

“# FASA’ (Tax Planning) SHeq W %0 8 Rata A0 Rienadrer fafay az=m
(Steps) o 1.

What is meant by Working Capital ? Enumerate the various factors which affect
the demand of working capital in business concern.

W Wigad (Working Capital) TUS & ?  SIQMENIE Qeoa Wigaers T/ea
aftoms o fafay s geaHm F.

What do you mean by Money Market ? Explain the features and significance of
Money Market.

fieft SR (Money Market) T %732 fieft sromreh 4fre o Hew w7 0.

Discuss rights (power) and duties of a Company Auditors.

HU SFEFR AUFR F FHdsd W H.

10

10

10

10
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SECTION - A
fasam - A
Answer the following sub-questions :
et 99¥T QIS
(a) The following Balance-Sheet are presented to you : 15
Balance Sheets as on 31st March 2003.
Liabilities X Ltd. Rs.|Y Ltd. Rs. Assets X Ltd. Rs.|Y Ltd. Rs.
Share capital
Shares of Rs. 100 |10,00,000| 4,00,000 |Fixed Assets 7,00,000 | 3,00,000
each
General Reserve 2,00,000 -—-- Stock 1,80,000 | 80,000
6% Debentures in
Profit & Loss A /c.| 1,60,000 -— Y Ltd acquired at | 1,20,000 -—-
Par
Sharesin Y Ltd.
Trade creditors 1,50,000 | 90,000 {3000 shares at 2,40,000 -—
Rs. 80
6% Debentures --- 2,00,000 |Cash at Bank 1,50,000 | 50,000
Profit & Loss A/c. - 2,00,000
Debtors 1,20,000 60,000
15,10,000| 6,90,000 15,10,000| 6,90,000

X Ltd. acquired the shares on 15 August 2002. The Profit & Loss Account
of Y Ltd. showed a debit balance of Rs. 3,00,000 on 1%t April 2002. During June
2002, goods costing Rs. 12,000 were destroyed by Fire against which the insurance
co. paid only Rs. 4000. Trade creditors of Y Ltd. include Rs. 40,000 for goods
supplied by X Ltd. On which X Ltd. made a profit of Rs. 4000. Half of the goods
were still in stock on 315t March 2003.

Prepare Consolidated Balance Sheet as on 315t March 2003.

P.T.O.
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‘3 HTTY 1 ST 2002 o W 4RO HA SR CH' U T6 9R T

1 TfAeT 2002 & %. 3,00,000 2T B
S 2002 HEE %, 12,000 = HIAH AT THAA T ST A e 4,000 T

THAM WU et SR, ‘= shurion sarard 37 ‘31" Shuei QRfadien 40,000 T Wi
TESIE WA 98 8. A1 ATRaeagd ‘31 uAten 4,000 % TR @l g, 9

e a7af o1 31 A 2003 T4 e Tion i o,
31 T 2003 A Fufed (Consolidated) g TR FA1.

Marks
. - ™
areite drseie 31 HTE 2003 T TR,
) ‘@ | T ‘o' et | =TT
2T T Wigas AT S 9o |
(Fm@) | (¥ud) - (¥w@) | (¥7)
T Wigad
T3 s 100 | 10,00,000 | 4,00,000 | feer A=l 7,00,000 | 3,00,000
Gk i
TEE faet =@ | 2,00,000 e "Il 1,80,000 | 80,000
6% '553;[ T‘It%
TEIaRTER | 1,60,000 . 1,20,000 -
‘T HUHHE
‘o' syt
9T Wigad
R 2ot 1,50,000 | 90,000 2,40,000 —
3,000 4m7
80 . gdeht
6% sl Q@ 2,00,000 | siendtd Reess| 1,50,000 50,000
AR AT @ 2,00,000
ot (Debtors) | 1,20,000 60,000
15,10,000 | 6,90,000 15,10,000 | 6,90,000
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What is Costing and Cost Accounting ? “Cost Accounting has become an essential
tool of management” - Comment. 10
URead @ (Costing) M 9=y @i®A (Cost Accounting) RIS HA? *7feg
AGIF AT A T o 3Tg '’ 941 4.
Define the term ‘Responsibility Accounting ? What are the advantages and 15
Disadvantages of Responsibility Accounting.
‘SimEERl Si@i®’ (Responsiblitiy Accounting) = SATEA o q WEEEH AEiEI
wES Tie faeg .
Answer the following sub-questions :
TreAicT ATV ST
Differentiate between the terms : Reconstruction, Absorption and Amalgamation 15

(a)

and from the following information of Shanti Limited, you are required to calculate
the managerial remuneration in the following situations.

(i)  There is only one whole time Director.
(i) There are two whole time Directors.

(iii) There are two whole time Directors, a part time Director and Manager.

Rs.
Net profit before provision for income tax and
managerial remuneration, but after depreciation & 8,70,410
provision for repairs
Depreciation provided in the books 3,10,000
Provision for repairs of machinery during the year 25,000
Depreciation allowable under schedule XIV - 2,60,000
Actual expenditure incurred. on repairs during the year 15,000

P.T.O.
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ot
=M (Reconstruction), SITHIS¥H (Absorption) & ST {Amalgamation)

e T WM Wee Aifgdias e Feide sqateTents ARy Jedish
Eq

@) R E e dEes dHd at

(i) 3 [ HEeH FEEE A

(i) N 2 Ui HTern SN T iHde Helerh o U sqaeeys S .

U
1o TH1 (S0 T F HATH G AFYT algargaid 8 70.410
T TR A TS TR o
SARRTAT STt SR 3,10,000
e gEET= TS 25,000
e XIV {aia 7 S8r] 2,60,000
el ST SRR @9 15,000

What do you mean by Process Costing ? Explain the terms ‘Normal loss and
Abnormal loss’ in process of manufacturing. State briefly how each should be
treated in Cost Accounting.. 10

WfsRAl S (Process Costing) TEUM 1 ? Seq1a Wfhadie sl el HearEno
AT (Normal Wastage) & FHAGIER AT (Abnormal Wastage) TR A ?
e e @re T w9 ¥ 2

The expenses for the Production of 5000 units at 50% capacity in a factory are

given as follows : 15
Particulars Per unit Rs.
Materials 50
Labour 20
Variable Overheads 15
Fixed Overheads (Rs. 50000} 10
Administrative expenses (5% variable) 10
Selling expenses (20% fixed) 6
Distribution expenses (10% fixed) 5
total cost of sales 116
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You are required to prepare a budget for 70% and 90% production capacity.
The current selling price is Rs. 150 per unit. At 70% capacity cost of materials
will increase by 10% whereas labour cost will decrease by 5% and selling price
falls by 2%. At 90% capacity cost of materials increased by 5% whereas labour
cost will decrease by 2% and selling price falls by 5%.

50% IATET &FTe o 5,000 THG! U haeddid SHe T WISeyamn! 1.
aqyis ufer va

Hl 91 50
o 20
e T 15
TR @S (798 50,000) 10
woEsE @9 (5% Te) 10
Tt @ (20% feer) 6
faao = (10% feRr) 5

T fawmt g 116

U 70% T 90% UG FHIWSE HASTAF TaR w1 =7 font fFma vo3
150 fd 71 TR, 70% SCANSANHIA oAl Hierd! fhma 10% i AR ST A9 @4
5% =t FHt TN R, T 90% TG Godenl FeAl A= fhHd 5% 7A@ 3T/
TS B 2% 3 SO 37,

fast fhmd 70% I &maell 2% o @ 90% IcAEaT el 5% 3 U 3R,

SECTION - B
faurr - B

4.  Answer the following sub-questions :

Wreifter Uy WiEar :

(@)

Explain meaning of the terms Allowances and Perquisites and describe the tax
treatment of House Rent Allowance, Education Allowance, Entertainment
Allowance and Rent Free Accommodation. 10

o, Vel 9 FaAdt (Perquisits) T80 19 o TR TS o7, fafor s, 090 s
T HH TR0 feiel =X A= Heawd wvar {7 T %,

P.T.O,
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Discuss different types of Errors and Frauds. How far an auditor is responsible
for detection of such Errors and Frauds ? 15
et fafay yren g i SEaw TR F0. g SN STRtaeE
e OIS EICH IR A T
Distinguish between Audit Reports and Audit Certificates and write on problems
and advantage of Computerized Accounting. 15
" FiFRTO ITEAT F STHETT FHIOTTH ' AT Bk T FA. WIHIHd @i R,
F HHET W L
5.  Amnswer the following sub-questions :
T ITHPT WIS
Describe the term : 10
(i) Assessment year (ii)  Assessee
(iii) Person (iv) Previous year
YR HHheddl T &Y ¢
(i) o SRR EL] (Assessment Year) (ii) PICKET (Assessee)
(iii) =AM (Person) (iv) AFTE o (Previous Year)
“Vouching is the essence of Auditing’. Discuss and how you are making valuation 15
or verifying Goodwill and Plant and Machinery ?
“grardt ftaronen fed qurETien FO o8 # e WK 7 AEeih® (Goodwill) d
T Ararse FHH GAIOH e ?
Define Audit Report. What do you mean by Qualified and Clean Audit Report& 15

Discuss basic elements included in the Auditors Report.

‘SR IEAT TUH FHU.  HHA FERIES OH TEF WR T, T I TS
(Clean Audit Report) &1 ST8aTel U 4 ?
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SECTION - C
faamr -
Answer the following sub-questions :
@refier II0PT TEar :
(a) Define Business Finance and discuss its scope. 10
e famqeae! a1 Wehed ! e 394 i ey o st e w1,
(b) Enumerate the relevant factors required for Capital Budgeting decision. 10

Wigaell SFEIHE TR HEM fa=a Saen s fafay a9 T w1

(c) (i) What are the essentials of Walter’s dividend model ? Explain its short
comings. 5

Hieex (Walter) A1 TN Fiaehel= STHTA W2 BV T Ffagdiean (Model)
g T HA.

(ii) Define Costof Capital ? Explain its significance in financial decision making. 5
‘siigael fHma’ (Cost of Capital) 8 ThedTl WE 6T, HITAT=A g fg
Hetd Y& &l

(d) Define the Capital Structure. What do you mean by an appropriate Capital
Structure ? What should generally be the features of an appropriate Capital
Structure ? 10

‘siiga@ T (Capital Structure) =1 =ITeN T GAN vigael UTHAT TEUR 1 ?

Answer the following sub-questions :

@I U9y Gigar :

(a) Bring out the fundamental principles of Financial Management. 10

‘fordia =R’ (Financial Management) = Trafies e T &

(b) What is meant by Capital Budgeting ? How is the Capital Budgeting technique
relevant to financial decisions. 10

Terdira Freiom = w2 fasig e dam anfies fofaish s gey oraad ?

P.T.O.
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(¢) (i) What is Sensitivity Analysis ? Write pros and cons of Sensitivity Analysis. 5
[Nfeadidt SFATAE (Sensitivity Analysis) IS %™ ? 1= HRR d1E favr

&+,
(i) What is Perpetual Growth Model ? What are its assumptions. 5
WA WA WdFdl (Perpetual Growth Model) S FE? @ JIESED
TR <1,
(d) What is an EBIT - EPS analysis ? [llustrate your answer. 10

EBIT - EPS faIveivy mvs %14 ? SSRIEEE o= +4.

SECTION - D
faumr - D

8.  Answer the following sub-questions :

TreieT 99T Tigar :

(a) Evaluate role of various Financial Institutions in Modern Business World. 10

fafaer faxita deui=t snyfter soedm SATdte it T &4

(b) Define Capital Market. State the features and significance of Capital Market. 10
‘qigae FEK’ ATl B, Vigas S afiTes 9 uew fa9E S,

(c) Describe the need for International Banking and Finance. 10

‘ AL (International Banking and Finance) et o fore I« TRal’ anf w2
H.

(d) What measures has the RBI taken in recent years to regulate and develop the
Indian Money Market in the context of globalization ? 10

HPTfhTeR o= T yHTeR g o oife gfeam wRda T S sy
G (Measures) Faa7 el o7g ?
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Answer the following sub-questions :
@I ITAVT WIS
(a) Describe the developments in the Stock Markets in India. 10

(b)

(d)
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AR e TR’ Gyrene aviq 3.

What was the need for establishing Financial Corporations at state levels ? What
form of financial assistance do they provide ?

TS o TEnses WhAE TR wE? (AR AemEs wivel TR
fariia a1 qeEa ?

Describe the need, objectives and functions of the Security Exchange Board of
India (SEBI).

¥t (SEBI) o Sfegw, WS 9 T W F.

What is Credit Rating ? What is its importance ? Discuss the working of the
main agencies providing Credit Rating.

TEHEEI%A (Credit Rating) TS #1¥? TJaqeAlFTe Wee TTL FY. TaegishH

-00o0-

10

10

10








